UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

LIU 0.56RV

NAME SIGNATURE DATE REVISION
DRAWN R.Fedotov 10.10.2018 DESCRIPTION:
APPVD Slide h. 0,55 with stainless base
‘5 Tiptiptap OU
T H H ouU Veetorni 9, MATERIAL: -
TR%P Ti ptlptap Juri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:15 SHEET 1 OF 4




235

110

550

147

289

1299 N

498

460

550

ground/

=\
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEIGHT ARE N KLOGRAMM LIU 0.55RV
NAME SIGNATURE DATE REVISION
DRAWN|  R.Fedotov 10.10.2018 DESCRIPTION:
APPVD Slide h. 0,55 with stainless base
?‘.P' o = oU TI\/pélg’rTgr?“(g,U MATERIAL:
TR%P Ti ptlptap Juri alevik, Rae vald, wood, metal, plastic A4
7530] HOI’JUI’T]CICI WEIGHT: | SCALE: 1:15 SHEET 2 OF 4




el
o]
4
ITEM NO. PART NUMBER DESCRIPTION QTY.
1 slide base h_0.55 stainless steel 1
2 slide side board h_0.55 HDPE plastic 2
3 slide bottom board HDPE plastic 2
4 slide ground fixing HDPE plastic 1
DIVENSIONS ARE N MILLIVETERS PARTNUMBER / DWG NO::
WEIGHT ARE IN KILOGRAMM Ll U O .55 RV
NAME SIGNATURE DATE REVISION

DRAWN R.Fedotov

10.10.2018

APPV'D

Tiptiptap OU
Veetorni 9,

">, oo ..
-?,.A%\%P Tiptiptap® o dicvic. Rae vaa,

75301 Harjumaa

DESCRIPTION:

Slide h. 0,55 with stainless base

MATERIAL:

wood, metal, plastic Ad

WEIGHT: | SCALE: 1:15 SHEET 3 OF 4




ITEM NO. PART NUMBER
6 I bolt DING03 M8x50
2 bolt DIN603 M8x30
.. . 3 nut cover M8
Ground fixing (PE plastic) 4 nut DING85 M8
5 nut cover cap M8
6 bolt DIN933 M8x50
DAVENSIONS ARE BN MILLIMETERS PARTNUMBER / DWG NO:
WEIGHT ARE IN KILOGRAMM |_|U O55RV
NAME SIGNATURE DATE REVISION
DRAWN R.Fedotov 10.10.2018 DESCRIPTION:
APPVD Slide h. 0,55 with stainless base
Tiptiptap OU
Veetorni 9, MATERIAL:

Juri alevik, Rae vald,
75301 Harjumaa

A Tiptiptap™

wood, metal, plastic

A4

WEIGHT: | SCALE: 1:12

SHEET 4 OF 4




	Sheet1
	Drawing View1

	Sheet2
	Drawing View2
	Drawing View3

	Sheet3
	Drawing View4

	Sheet4
	Drawing View5


